


20

20

28

11

HP

18



20

20

20

20

22

29

10







25 =8
45 =<8
55 =8
5 <8




20

=<8

21

24

31




35 =8
45 =<8
45 =<8




5 8
20 8
(150 =8 )

21

24

31




40

40

<8




50 =<8
5 X8

15 =8
150 <8




80 100
70 80
60 70
50 60
50
71.3 15 =8
21 26 3 31

10

=120



55 <8
40 <8
35 =<8

11




<8

15

=<8

150

<8

80 100
70 80
60 70

12




50

60

50

21

69.4

24

13

31

10

><8

80



40 =<8
40 <38
50 =<8

14




15 <8

150 <8

80 100
70 80
60 70
50 60
50
69.8 10 =<8 =80
21 4 24 3 31

15




16



